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QUESTION 1

The JSR 286 Portlet Specification PLT.C appendix defines the Cascading Style Sheet classes for a variety of logical
units in the markup. It follows the styles defined by the OASIS Web Services for Remote Portlets Technical Committee.
What is the prefix used for the name of the CSS classes defined in this appendix?

A. css- (for example css-font, css-form-field, css-table-body)

B. wsrp- (for example wsrp-font, wsrp-form-field, wsrp-table-body)

C. portal- (for example portal-font, portal-form-field, portal-table-body)

D. portlet- (for example portlet-font, portlet-form-field, portlet-table-body)

Correct Answer: D

QUESTION 2

Matt is developing an interactive AJAX widget that will allow content approvers to review content without leaving their
home page. Which IBM Web Content Manager API feature should he use?

A. Web Services

B. JSP Tags

C. REST Services
D. Managed Pages

Correct Answer: C

QUESTION 3

Ted is developing a module that will provide content to the Markup sub-contribution type. This Markup sub-contribution
will contain some inline JavaScript. What will happen if Ted makes this module deferred rather than non-deferred?

A. The script code inside the markup will not be evaluated and run when the deferred module is loaded.

B. The script code inside the markup will be evaluated and run. However, it will throw an exception since its being
loaded from a different domain.

C. The script code inside the markup will be evaluated and run without error when the deferred module is loaded.
D. The server-side combiner framework will not allow JavaScript inside of the Markup contribution type.

Correct Answer: A

QUESTION 4
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In the case of a processAction or serveResource call, what is the expected behavior if an action or resource parameter
has the same name as a public render parameter?

A. The public render parameter is ignored.
B. The public render parameter values must be the last entries in the parameter value array.

C. The public render parameter is appended with a unique identifier to distinguish it from the action/resource
parameter.

D. The public render parameter takes precedence and overwrites the value of the action/resource parameter.

Correct Answer: B

QUESTION 5

Sanjeev wants to add a Help mode to his iWidget. At a minimum, what changes will he need to make to his iWidget
definition XML so that IBM WebSphere Portal will enable a Help option for it?

A. Add an iw:content element with a mode attribute of \\'help\\' in the iw:widget element.

B. Add \\V'help\\' to the supportedModes attribute of the iw:widget element. Add an iw:content element with a mode
attribute of \'help\\' in the iw:widgetelement.

C. Add \V'help\\' to the supportedModes attribute of the iw:widget element. Add an iw:content element with a mode
attribute of \'help\\' in the iw:widgetelement. Add an \\'onhelp\\' Javascript method.

D. No change needs to be made. All iWidgets in WebSphere Portal already have a Help mode.

Correct Answer: B

QUESTION 6

When creating and registering a custom portlet service, it is possible to set initialization parameters. What code would
Adrienne use to access a parameter with the name sample.portletservice.HelloServicelmpl2.message?

A. public void init(Preferences servicePreferences) { String message = servicePreferences.get("message", "Hello"); }

B. public void sayHello(RenderRequest request, RenderResponse response) { String message =
request.getAttribute("message”); }

C. public void init(Preferences servicePreferences) { String message = servicePreferences.getInitParam("message”,
"Hello™); }

D. public void sayHello(RenderRequest request, RenderResponse response) { String message =
request.getParameter("message"); }

Correct Answer: A

QUESTION 7
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Cheng is a registered user of his company\\'s intranet portal. He accesses the portal by a web browser with a valid
RememberMe cookie but he has not logged into the portal during the current session. How does the portal treat
Cheng?

A. Identified and authenticated

B. Identified and unauthenticated

C. Unidentified and authenticated

D. Unidentified and unauthenticated

Correct Answer: B

QUESTION 8

Which of the following options is valid about downloadable portlets from the IBM Collaboration Solutions Catalog?
A. Only portlets developed by IBM are hosted by the Collaboration Solutions Catalog website.

B. Portlets available for download follow open standards.

C. Portlets available for download are free, trial-based, or fee-based.

D. Portlets available for download should not be used in the production environment.

Correct Answer: C

QUESTION 9

John is developing a portlet that uses the portlet client model API to manipulate a user\\'s profile on the client side. How
can he get the object of the PortletWindow that represents the portlet on the client side?

A. new ibm.portal.portlet.PortletWindow(")
B. new ibm.portal.portlet.PortletWindow()
C. this.getPortletWindow()

D. this.getPortletWindow("")

Correct Answer: A

QUESTION 10

Rafael needs to create a way for non-administrator users to change the look of the Portal 8.0 theme. Which solution will
provide the simplest answer?

A. Use multiple custom themes.

B. Create new dynamic content spots to serve multiple CSS files.
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C. Use the new module and profile features to define and load different CSS.

D. Create a custom theme style to be deployed in the theme\\'s CSS directory, and modify styles.json to include the
style.

Correct Answer: D

QUESTION 11

A client named Rudy\\'s Rocking Hot Rods sells high-end motor vehicles through its customized portal. When a user
logs in, they are presented with several combinations of portlets and iWidgets. The user can select a car model, color,
customize finishes, and perform other applicable actions. As part of a new development phase, the client has requested
two updates: 1) Wire Portlet ABC to send an event to the iWidget XYZ. 2) Wire iWidget XYZ to send an event to the
Portlet RSA.

What option below is not correct, assuming all portlets on the page are JSR 286- compatible?

A. If Portlet ABC defines a Java class in its portlet.xml under the element as "java.lang.String," it is able to pass that
value to iWidgetXYZ.

B. iWidget XYZ will be able to receive events from Portlet ABC and send events to Portlet RSA.

C. If Portlet ABC uses a custom type defined as follows: org.za.StrongTypedthen the iWidget XYZ needs to have a
corresponding payload definition as such:

D. When passing a mashup type from iWidget XYZ to Portlet RSA, which uses XSD types, that type must be manually
converted because IBM WebSphere Portal does not provide an automatic type conversion mechanism.

Correct Answer: D

QUESTION 12

Which of the following options is not a valid parameter of the login() method of the Portlet Login service (interface
com.ibm.portal.portlet.service.login.LoginService)?

A. char[] password - The password of the user.
B. java.lang.String userlID - The user ID of the user.
C. java.net.URL redirectURL - The login redirect URL.

D. javax.security.auth.Subject subject - A security subject to be passed to the WebSphere Application Server login
modules that can be null if notneeded.

Correct Answer: C

QUESTION 13

Mr. Mosby is developing several different custom themes for the different brands his company offers. He\\'s developed a
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custom theme WAR that provides the JSPs to be shared among the different themes. He has a JSP named
brandNav.jsp and created a brandNav dynamic content spot that points to this JSP. However, for one particular theme
he needs to use a different brandNav.jsp. Which one of the following is not a valid option?

A. Create an override in the themes metadata:key=com.ibm.portal.theme.brandNav
value="res:/CustomThemeContext/themes/html/MyTheme/custombrandNav.jsp"

B. Modify the theme_xx.html so that the html directly points to the new JSP:

C. Create a new Dynamic Content Spot pointing to the customBrandNav.jsp. Then modify the theme_xx.html to use this
new dynamic content spot.

D. Include the new JSP directly in the theme_xx.html and bypass the dynamic content spot mapping:

Correct Answer: D

QUESTION 14

Hershel wants to programmatically check if specific users have access to his company\\'s new portlet application, in
order to show a message in another portlet asking them to purchase a subscription. He is trying to do so with the least
amount of performance overhead. What would be the best way for Hershel to accomplish this?

A. He should use the com.ibm.portal.ac.RoleData interface to verify explicit role assignments.

B. He should use the com.ibm.portal.ac.UserRoles interface to verify explicit role assignments.

C. He should read role assignments using the com.ibm.portal.ac.RoleData interface and ensure portlet caching is
enabled.

D. He should use AccessControlRuntimeModel or AccessControlGlobalRuntimeModel to verify explicit role
assignments.

Correct Answer: D

QUESTION 15

What is the outcome if a non-deferred module has a requirement on a deferred module?

A. The server-side combiner framework promotes the deferred module to be non-deferred.

B. The server-side combiner framework will ignore both the non-deferred and the deferred module.
C. The server-side combiner framework demotes the non-deferred module to be deferred.

D. The server-side combiner framework will ignore the dependency on the deferred module.

Correct Answer: A
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